>

o)

Probability

Probability

©o oo oo oo
o =~ N W b OO N

o o
o N

0.5

oo oo
o =~ N W b

10 12

10 12

2 4 6 8
WT
HET

2 4 6 8
Sessions

C

Normalized probability

Cntnap2

0.7 05k

Amplitude
o o o
N w S

o
[N
T

0.1

0.6
0.5 T

04 =203Ff

0.3 |

02 '

0
-/- ++ 0 2 4 6 8 10 12 /- +/+
Sessions
Tsc1
107 ¥
fos  %° Wt
{os5 04 }
el
104 203
{os £
Joa 0-2 HET
Jo1 0.1
HET WT 0 2 4 6 8 10 12 HET WT
Sessions
1.2
* * * *
T S
0.8
0.6
0.4
0.2
0 vy () <
'590 % 0/0 '9@ )\)\
23 Ry p
RN T
o 6’0& N



Time (msec)

300

200

100

o

n.s. B

o
@
7]
E
n.s ®
£
HHH )
++ -[- +/- ++ -[- +/-
Rise Peak

300

200

100

n.s.
n.s.
WT HET WT HET
Rise Peak





